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Rankine's method taking into account the size of the footing
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Ot

s~ I

Bell(1915)

Rankine X|X| 2 7HE[ o = g., tan? (45° — §/2) — 2c tan (45° — §/2) 12 BIAH ¢, 05 ¥

1= X AHS ZAL FESEY Tt =SS IO BHAA.
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ox
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10

BDYIS 2t WA X0l BRI, q,,=cN +(yB/2)N,+ yDN, (Hx2, 7|z %, 28 o))
If, p=0(=5=8t ©E), q,=4cN+yD; if, Dy =OK|EHO| 7| Q|K|), q,=4c
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« Prandtl(1920

Terzaghi(1943)

S5 Y

>

% 7 & « Meyerhof(1951)
é = RRGTX Li —T =: =
“-7 G=w D G =4 ) 7| HEf o F
% diddd e / 2 [T, X EHIA|
0 3 o s s, d, iof Chgt 2 E A
1 F,=cxab+Pytang 3%
" e
5 P, e
4 i~ 7 « 271X O] &2
|~ Meyerhof st X|x|Hg o
Terzaghi and Hansen

M7|HE O] F& FAOM Ch=Lid HEY
2 MCE Y, 7| E=X|BHHO| 45-¢/2 4R

HYE x[gke] X[X|
e, 271, fdd7|= 8 B8+
7| ZBA, A=, BASHSO| Tist 2 A+

H|Al(Hansen, Vesic1973)

oA T4

0= ¥ace or +abd’ For Hansen, Meyerhof:
. ¥=¥acd or %abd
ad or ad” = log spiral for > 0

n=90"-¢

®)

Bearing-capacity equations by the several authors indicated

Terzaghi (1943).|See Table 4-2 for typical values and for K, values.
N LEE Ll 5
= qun = N5, +GN, +0.5yBN,s, N, =

acosi(45 + ¢/2)
a = e075T—dMung
Ne = (Ng — Dcotgp
Jang( Ky
Ny 2 (msznt 1
For: strip round square

s =10 13 13
5 =10 06 0.8
I Meyerhof (1963).* Fae Table 4-3 for shape, depth, and inclination factors.
Vertical load: G = cN.sed, + GN,sody + 0.5y B N,s,d,

Inclined load:  gu = cNcd.ic + qNydyiy + 0.5yB'Nyd, iy
N, = e'"""mn“(45+ %)

N = (N, — Dcotd
y = (N, — Dtan (1.4¢)

I Hansen (1970'.1 See Table 4-5 for shape, depth, and other factors.
Generalit  que = eNescdeicgebe + GNpsqdgiqgeby + 0.57B'Nys,dyiyg,by
when ¢=0
use g = 5145, (1 + s, +d. —i.— b, - g)+7
N, = same as Meyerhof above
N, = same as Meyerhof above
Ny = L5(N, — Dtand

I Vesié (1973, l975).j See Table 4-5 for shape, depth, and other factors.

Use Hansen's equations above
N, = same as Meyerhof above
N. = same as Meyerhof above
Ny = 2(N, + )tand

*These methods require a trial process to obtain design base dimensions since width B and

length L are needed to compute shape, depth, and influence factors.
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3.2.1 ota| HEj

& Vesic(1973)2] R2f& X[HtofAMe] x{st AlE ZAnf

0 T T T \ T
L= ARG
27 ||, |
D,
2970 i/] \
B
¥ P =
SHEETt 30~67% 8
SRR AHRE X|HHo| HX|E &2 7|x2
T I — —
- 28 HE ) g
5 T 2= 7} 30% 0|2l of
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3.2.2 Terzaghi2| = otX|X| &

—
®
N\

9
bigbdbddy ® 7
b 45—% g

2 RIS 7| 2920] Aolo] ATyt
el A OIS HE 0| HEIR| 2

Terzaghi®l XX P82 2ot X|HHata| o1y

3.2.2 Terzaghi?| S8HX| x|

& Terzaghi®l 2|t SHX|X| 2] MF 4|

qu=0cN,+qN,+ pByBN,

N.=(N,~—l)cotg
220757 = $)tang

20052(45" %+ %)

1 Ky $iey
N772(cosz¢ l)tanqb c =

(SIS

&5 ¢*: tan’l(%tan ¢)




3.2.2 Terzaghi2| = 2tX|X| &

Terzaghi@| X|X|& A==

0 5.70 1.00 0.00 26 27.09 14.21 9.84

1 6.00 1.10 0.01
2 6.30 1.22 0.04
3 6.62 1.35 0.06
4 6.97 1.49 0.10
5 7.34 1.64 0.14
6 7.73 1.81 0.20
7 8.15 2.00 0.27
8 8.60 2.21 0.35
9 9.09 2.44 0.44
10 9.61 2.69 0.56
11 10.16 2.98 0.69
12 10.76 3.29 0.85
13 11.41 3.63 1.04
14 12.11 4.02 1L.26
15 12.86 4.45 152
16 13.68 492 1.82
17 14.60 545 2.18
18 15.12 6.04 2.59
19 16.56 6.70 3.07
20 17.69 744 3.64
21 18.92 8.26 4.31
22 20.27 9.19 5.09
23 21.75 10.23 6.00
24 23.36 11.40 7.08
25 25.13 12.72 8.34

27
28
29
30

Wi W | | ] w] w w
O W N | R W R -

29.24
31.61
34.24
37.16
40.41
44.04
48.09
52.64
57.75

15.90
17.81
19.98

415.14

11.60
13.70
16.18
19.13
22.65
26.87
31.94
38.04
45.41
54.36
65.27
78.61
95.03
115.31
140.51
171.99
211.56
261.60
325.34
407.11
512.84
650.67
831.99
1072.80

3.2.2 Terzaghi?| = oHX|X|&

=g Ao e KX A%

0:

1.3+0.3B/L

B 0.5

0.4

0.3

0.5-0.1B/L

q,=acN +qN,+ ByBN,
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3.2.3 ¥HrHQl S XX H

Okl

@ Meyerhof(1963)

Gu= N o FogFog Fu+ GN  Fo F gy Fy+ S YBN Fy Fyy Fy,

O7IM,  Fu. Fyo Fp =8
cha Fydv qu = |O|74

Fao Fp. F, =032

HN 0%k
3P

[e]3

>

A=

N.=(N,~1)cot¢

N, = e”m“¢tan2(45" + f)
q 2

Ny=(N,~ tan(1.4¢)

o7IM, N. N, N, =ZXZXZAS

3.2.3 YHtX ol SoHX|X| =

— [ i |

Al
2

Ok

@ Meyerhof(1963)
@ AT Fo=1+02K}(BIL)|
{FYS:FM: LO (¢=0)

Fyy=Fu=1.0+0.1K ,(B/L) (¢ =10%)

@ HolAE  Fu=1+02K0,B)
Fra=Fu=1.0 (¢=0°
Fyg=Faq=1.0+0.1K*(D;/B) (¢ 210°)

oz £,-(1Le

Y
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3.2.3 YHtXOQl X X|H

MeyerhofQ| X|X| 2] Al5=

v d

Al
~

N,
0 5.14 1.00 0.00 26 22.25 11.85 8.00
1 5.38 1.09 0.002 27 23.94 13.20 9.46
2 5.63 1.20 0.01 28 25.80 14.72 11.19
3 5.90 1.31 0.02 29 27.86 16.44 13.24
4 6.19 1.43 0.04 30 30.14 18.40 15.67
s 6.49 1.57 0.07 31 32.67 20.63 18.56
6 6.81 1.72 0.11 32 23.18 22,02
7 7.16 1.88 0.15 33 26.09 26.17
8 7.53 2.06 0.21 34 20.44 31.15
9 7.92 225 0.28 35 33.30 37.15
10 8.38 2.47 0.37 36 37.75 44.43
11 8.80 2.71 0.47 37 42.92 53.27
12 9.28 297 0.60 38 48.93 64.07
13 9.81 3.26 0.74 39 55.96 77.33
14 10.37 2.59 0.92 40 64.20 93.69
15 10.98 3.94 1.13 41 73.90 113.99
16 11.63 4.34 1.38 42 85.38 139.32
17 12.34 4.77 1.66 43 105.11 99.02 171.14
18 13.10 5.26 2.00 44 118.37 115.31 211.41
19 13.93 5.80 2.40 45 133.88 134.88 262.74
20 14.83 6.40 2.87 46 152.10 158.51 328.73
21 15.82 7.07 3.42 47 173.64 187.21 414.32
22 16.88 7.82 4.07 48 199.26 222.31 526.44
23 18.08 8.66 4.82 49 229.93 265.51 674.91
24 19.32 9.60 5.72 50 266.89 319.07 873.84
25 20.72 10.66 6.77
21
e
6=135"+8-n—¢/2
a=45"+¢ /2
Terzaghi w}3}=|7 % Meyerhof T}z w|7}L&
54 77 4.2.6 Meyerhof@| Fchmtn| Hi#HLIS
S04 H 4.2.3 TerzaghiQ £&X|X|21AH 4
X|X[2AIs |¢=0| 5 10 15 20 | 25 28 | 32 | 36 |40 OfA
53| 53|53 | 65| 79|99 11429422/ 957
10| L4 [ 19 | 27| 39 |56 | 71 |141]|316]| 8.2
0 0 0 1.2 | 20 | 33 | 44 | 106 | 30.5 | 114.0
S04 H 4.2.4 MeyerhofQ X|XIZAI2(T, m =0, §=0)
X|X|HAS | ¢=0 5 10 15 20 25 30 35 40 45
N, 51 | 65 | 83 | 11.0 | 14.8 | 20.7 | 30,1 | 46,1 | 75.3 | 133.9
N, 1.0 | 1.6 | 25 | 39 | 6.4 | 10.7 | 184 | 333 | 64.2 | 134.9
N 00| 01 |04 | L1 | 29 |68 |157 3729372627
22

11



A= A X
Fa-1+8%s Fe=1+2 F.=1-044 714 L =712 Z0|(L:
w1+ T N e 7 tan ¢ s -4 o714 L=7122| ZIo|(L > B) De Beer(1970)
N d =02 Ao ¢ = 10°¢ 79
R B = b ts 02l B a4 &)
Fo=1+024 w= 1+02( 7 )tan’{ 45"+ 3) Meyerhof(1953)
Fg= Fpe= 1 Fo=F,, Ho.x[:%')mu?['45°+";']
DB < 12 eI
D,
D aytan-y 2L
Faum14042f Fog= 1+ (0.4)tan {3)
cn ufiD Hansen(1970)
Fog= 1+ 2tang (1 —smqﬁ)f% Fyp= 1+ 2tang (1 - sing)? tan L{T’]
Fg=1
oA | Fut ! "
o174 A% an” ' (D, /8) T 91 ek
p-0gl A ¢ = 10° B
(D Dp\ (.
Fo=1+02( ) Foy= 1+02( 5 Jtan( 45 +2) Meyerhof(1963)
Y B (s
Fog=Fpy=1 Fpe=Fpy l+D.L{.TJmn[4) +%)
Fa= Fy= 1 (%80
¢ 0 Meyerhof(1963);
B F L_[’aﬁ‘l' Hanna®}
i \ ¢ ) Meyerhof(1981)
o 714 o= 2HE-aHE Whake] davli o) 2
23
A LS =
3.2.4 & XX
& SEX|XH
_ 4
qa1= F§
g = S EXX|H, q= =X X|H, ps= 2T
* & 38R
_qu—4q
Qallwe = " F§
q = 4sHE
* ZEHS0| UH OHES HB
_4f tang¢ )
€= . =tan (
a7 F Sshe:u ¢d F Sshear
_ _ 1
Gall(nety™ Gan = 4 = Cq Nc+q(Nq_ l)"'jlyBNy
FSy = A0 MEHIbD|of Cfpt OHHE = 14~16
24
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K3
"o’

A5 - E271= XX H

THIBE 1.92 t/m?, HIBfB = 1486t/m?Q1 HEH X|HO 2 Y20 12m=2 AHKT| =7 A
X|=| Q42 [ Terzaghi 340l 2[3t HEX|X| 22 LOHIZF? (B N =514, N;=1.0, N,=0, FS=3
OIEh [ZIA+ 07, 11, 14, 18]

® 64 t/m? @ 13.5t/m? 3 18.5 t/m? @ 40.49 t/m?

Sol.) Terzaghi X|X|& &4 : q, = acN, + BBy,N,+D; VN,
AH£7|X 0=1.0, p=0.5
Que = acN, + BBY,N,+D; ;N = (1.0)(14.86/2)(5.14)+0+(1.2)(192)(1.0)
= 40.49t/m?

Q= dw = B 135¢/m?

o

X3

ALSH - L27|E XX

A7|7} 1.5x1.5m el AF7|=7F 1.0mZA 0|0 EOIULE SHAFE 1.8 t/m3, TEH 18y/m2 W

FOMEZ 200 Terzaghi SA0f O[3t 5188E2 LOHIZE (B N=17.69, N,=744,
N,=3.64, FS=4) [7|A} 07, 10]

® 29t @ 39t ® 49t @ 59t

Sol) Terzaghi X|X|& &4 : q,), = acN, + BBy;N,+Ds v,N,
HAZET| = a=1.3, p=0.4
Quie = O“:Nc + BBYINV"'Df YZNq
= (1.3)(1.5)(17.69)+(0.4)(1.5)(1.8)(3.64)+(1.0)(1.8)(7.44)

= 51.82t/m?
_ Qy, _ 5182 _ 2
W= pe=—F = 12.96t/m
P P
4 =7 12.96 = Toas P = 29.16t




e
o>

=H - g27]= XXH

@ 3.8m @ 34m ® 29m @ 2.2m

AF2t8 27127+ 15mZ0lof SOIQICE 7|0] =40l 150(5H50] ZHgSkn UCHR 7|

x~
o 1o
EEZ2 A0t0|0{of StLf? (B 1.8 t/m3, FE 0.0t/m?, LFOFEZE 30° N =37, N,=23,

Sol) Terzaghi X|X|2 S4] : q,, = acN, + BBy, N,+D; y,N,
HANZHI|ZE a=1.3, p=04

Que = acN. + BBy;N,+D; v,N

(1.3)(0)(37)+(0.4)(B)(1.8)(20)+(1.5)(1.8)(23)

14.4B+62.1t/m?

_ Gy _ 144B+62.1 _ 150
9a = 7 = 3 R
B2(14.4B + 62.1) = 450, B3+4.313B2-3125=0 .. B=22m

27

3.3 X|ol=%l & nafet &2 7| X9 XX [H

" 21D
Dy P - ==Y Df'd-)*‘f'd: Dy
) " 7 vl
T Y
(@) 7124 Aol A8ke9)7t ol o () 712A W 23917k e o

g=vD;
HIHH

d,
Y=Y+ -7

Dy

(© Ashp9i7t 7122 H o] EAt o

Xst=2let £of HISY 2

28
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SUGRH - XG9S DY LLT|E KXY

3X3m BARZY 7127t X[E 2mOf2oll F0| Z|ZEH 1mOF2Hof X[Sha=HO| P{X[GHCf.
Terzaghi S4{0f 2lot Sot XX[H2 A0IZE (HHMTATE 17 yme, ZATHATE 19
t/m3, ®=20°, c=5t/m?, N.=18, N,=7.5, N,=5) [7|A} 19]

® 135.71t/m? @ 149.52t/m? 3 157.26t/m? @ 174.38t/m?

e =2

Sol) Terzaghi X|X|2 S4] : q,, = acN, + BBy, N,+D; y,N,
HAMZE 7| «=1.3, p=0.4

d 1
Y1 =VYsub t FW(Vt — Ysup) = 0.9 + §(1-7 —09) = 1.17t/m?

Quie = acN, + BBy;N,+Ds y,Nq = (1.3)(5)(18)+(0.4)(3)(1.17)(5)+(2)(1.7)(7.5)
= 149.52t/m?

29
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JE—____._T'_'_ 1
Q -]
| a
L=L-2e;
L

chﬂ Fys’s Fqs‘ chv F’yd’ qu

B={a% =B-2ep L=5aZo]=L-2e;

30
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(a) 40| EIChet £50] B2OIR 23 FL(B>H ) (%)

2D\ K
~ Bt I Ve -2
,271H2c056+(Y|D/)(H)c056 ZYIHZ( “H )0055
2D\ K, tand
qu=qpt 2C§H+YIH2(1+ H‘f)%_yll{

O7IM, K, = +SEUASO] $BHE, K, yand=K ung K, ~HUYHE7 5

2D\ K tan ¢
S s
(1 +—”)T'—}QH

35
C} K=2 oF =A H
3.5.1 METtoin|HES 2ot Z4X|Ht
40
1.0
] —
30 :
/ 0.9
Ks
20 0:4- ¢ 08
€
07
10 02
L~ 2l o
) mEM—/ 02 02 04 06 08 1.0
20 30 40 50 4
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3.5.1 MEttufa|HES na{st S4x|H

(a) &2 TSt ESO| SR6IX| Rt B2 (B>H ) HAHAY7|=

2c, H 2D\ K tan ¢
qu:’]b+(l+%) 5 +y1H2(1+%)(J+Tf) 7 hH=q

rir

A7IM, g, R ¢,
1
qp= € ch2ch‘2+’Yl(Df+H)Nq2Fqs2+§Y2 B‘Vy}!FysQ

1
qr:clerchl+Y1Dququsl+jY}BNylesl

O7|M,  Fup. Fpts Fpae Fag. Fp. 9 Fpy = ES 1311 2300 Oist Y &A=

37

qb:(l +o.2%)5.14c2+ ¥ (D s+ H)
1
=110 NgyFeeyt 371 BNy ) Fys

gu=(1+028)514c,+y, HY1 +%)(1 +%)KNTW¢I

1
D=V D Ny Fsant 3V BNy ) F sy
o71M,

92 _ N __ 5.4
%YIBN)'U) 0.5y, BN,

q
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4=V (D + )Ny Fgs )t 3 V2 BNy o) Fys )

2Ds\ K tan ¢
+}/1H2(1 +%)(1 +Tf)T1—yle 4,

o |
=YDy Nooy Fasyt Y1 BNy Frs

Ol7IM,

1
92 _
4

Y2aBNyoy  va Ny
v N
Y1BNyq) ifrm

3. lofZSIHE 20f THEFS

r
H

SFHEZL 9IRS X[Ete] B (HIH+=

qu:(l +0.2%)5‘14c2+(1 +%)(#)+%DI; 4,

q,:(l +o.2%)5.14c1+y,1)f

Ol7IM,

gy _5l4cy ¢
917 514c; — G
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SotEQ E2 IUOM 2

MEXF 7L o Z
RIS] A2 (SPT, CPT)

43
= S |
3.6.2 SPT, CPTS 0| 8¢t X[X[H 54
@ Meyerhof (1956)
Gall ety (N/M?) = 11.98N , (for B <1.22m)
2
Gl (ney (KN/m 2 = 7‘99Ncm(%) (for B>1.22m)
784
686
588 N=40
i w0 N=35
= N=30
bl 392
g — N=25
R =
3
e N=15
196
— N=10
98
—— N=5
0
0 1 2 3 4 5 6
12m 7]22] F(m)
ZIEZZ0 GE HEXIXIZ qypey(Bowles, 1988)
44
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3.6.2 SPT, CPTE 0| &%t X|X|H

& Bowles

Wy
Gall ety (KN/M? ) = 19.16N o, Fd( 5t

"4) (for B<122m)

o7IM, Fy= HOIAl= = 1+033(D,/B)<1.33 S§,=98

@ Meyerhof (1956)

Gall(net = ?—g (B=1.22m, §,=254mm)

2
3.28B+1
‘Jall(net):%(w) (B>122m, §,=25.4mm)

Gatl ety (KN/mM?) = 11~98Ncor(%) Fd( 2§ )(for B>1.22m)

Aste (mm), B=7|%

At

(m)

45
— — | e |
3.6.3 EStA[ O] 2fet X|X|H
1.7

o "o Y E7 25mm, XA 1 Omm~762mm, AN
- BXZ0|D ol A Smione) 12 Z2 4BE-ABE )
< AlREE SAEHEH S0 -rIXIAla 2, RYMES ALY, Old s SEStES

4~5THA| 2 LH0f BHA|E St 5t
. Ea‘f%ﬁol EI 25mm01| OlE [[HU}'X| ")l\_a-oH B/ eko 2

a1/ u A
A 23gE

e G i

I i I
—Lﬁl\ PSR

| AclA\ W mmn i N
\ st / AEWE
() A3
sty
(b) b33k 54
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47

3.6.3 st 2let XX

2. BEMSAHo 2Bt XX =Y

il
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AREE] A+ quirm=

o
i

B
AHE E 2] Qo] 79 qu(F):‘]u(P)LrTi
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3.6.3 HEXStA o 2zt X|X|H

TEIYSIAIE AIZCHE S} 5-5foke 274 (o)
mmlﬁmm E5t2(mm)
1 94.1 kN/m? 2.02 4 235.2 kN/m? 13.80
2 2.05 2 14.77
3 2.07 3 15.07
5 2.09 5 15.80
10 2.11 10 16.52
15 2.12 15 16.80
2 144.1 kN/m? 1 3.87 5 282.2 kN/m? 1 2427
2 3.91 2 24.65
3 395 3 25.28
5 4.02 5 25.88
10 4.08 10 26.87
15 4.12 15 2757
3 188.2 kN/m? 1 6.52 6 329.3 kN/m? 1 3228
2 6.85 2 3434
3 7.26 3 35.64
5 8.10 S 3745
10 8.40 10 3949
15 8.54 15 40.53
49
— — | e |
3.6.3 ExSIA[ O] 2et X|X|H
4. BEISIAIYE 24 Wy
(1) P-s 2= BMY
- HETYSIAIFOIM 20{T stEat O SHEEHA0M Sl 152 AatA|e 2F HotEe
MEoz A
- 535 Hoto| SAHSHA BWsts XIFE M2 Huat xS LA Ho
Mol Fol uxtyol &tF
e
o 0 50 100 150 200 250 300 350
5 e et e
. a
15
- 20
:
*= 25
* 30 \
35
40 \
45
50
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3.6.3 ExstAI A 2Tt XX

ol &
- FEIE: AT YoM =[O FEHO| HOl= XH| 3t

P-s 12
1000

100

A5t (mm)

B

10 0 1000
F(kN/m?)

7t 22 U4 (log-log) AH YR TA|

51

3.6.3 HEXStA o 28t X|X|H

(3) S-Log t 2= EMH
o A|ZtAqto| 2 HstE Jef oM Al ZHSE Log scaleE EA|

- SESF S HA T 5tS S7HA At mat Hapo| A St ol ofF

S-Logt 712t
45
—e— 94.1 kN/m? q
| —— 144.1 kKN/m? 2 40
i 1882 KN/m? LT
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7|22 K[| B1EX|X|H 27 [7|Af 06]

@ 8.8t/m?> @ 10.6t/m? @ 17.68t/m? @ 31.83t/m?

_ Py 2 _ Py — 2
Sol.) /4= = 3)2 =17.68t/m?> qu="/, = = 3)2 =3183t/m
"z—y 1798 _ g8 t/m? = A8 _ 106 t/m?
» qa = 8.8t/m?
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3.7 gfut 210 FQl ¥2 7|x9| X|X|H
EXe S S
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3.8.2 MO0 E0f 2|t EHI SR A *

1. Mot A5t

Y A AR A

AP =0| M2l Fotet HXIY

ARIE A

Rsinnzd

HAE AW

T o et

© o

B8 =002 Ftet XY

63
e | |
3.8.2 EH40| 20j 2Tt EHS ESHEF A4t
2. B4 B0 2AHT SA| "HotEe| ALt
GUR (1-v2
§i= sq E
O7IM, si= KR ZAIYSHE
C, = 7|xo| Ayt 8 240 WHE A=
g = SE2XE3E2 A7
B = 7|%0| Wot =
E = X|gto| EHdA 4= (H|Hj5 =)
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3.8.2 E40| E0f 9]

Fatof mE Al CXIXIB0| 2l 4<9) (NAVFAC DM7, 1982)

St E}

e L

2 (@y) 1.00 064 085
@) 0.79 079 0.79
AR () 1.12 0.56 0.76 0.95
HAZE (24) 0.82 0.82 0.82 0.82
A (P)
20l/=(1/B)
2 153 0.76 1.12 130
5 2.10 1.05 1.68 1.82
10 2.56 1.28 2.10 224
HAZY (249)
Z0|/Z(L/B)
2 112 1.12 1.12 112
5 16 16 16 16
10 20 20 20 20
65
3.8.2 EMJO| 20 2|t EHIE SR A4
0 0.00 0.00 0.00 0.00 0.00 0.00
0.5 0.14 0.05 0.04 0.04 0.04 0.04
xjstol 1.0 0.35 0.15 0.12 0.10 0.10 0.10
Zopau| 15 0.48 0.23 0.22 0.18 0.18 0.18
~ 2.0 0.54 0.29 0.29 0.27 0.26 0.26
=03 3.0 0.62 0.36 0.40 0.39 0.38 0.37
50 0.69 0.44 0.52 0.55 0.54 0.52
10.0 0.74 0.48 0.64 0.76 0.77 0.73
0 0.00 0.00 0.00 0.00 0.00 0.00
0.5 0.20 0.09 0.08 0.08 0.08 0.08
xjstol 1.0 0.40 0.19 0.18 0.16 0.16 0.16
Zopau| 15 0.51 0.27 0.28 0.25 0.25 0.25
033 2.0 0.57 0.32 0.34 0.34 0.34 0.34
3.0 0.64 0.38 0.44 0.46 0.45 0.45
50 0.70 0.46 0.56 0.60 0.61 0.61
10.0 0.74 0.49 0.66 0.80 0.82 0.81
66
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3.8.3 X[l 2UE 7|Zx2| A HoLE

I — o
[, = 7| &9 =00l CHSH RSt IS A
3.0 -
L=7129) 70| 100
25 q LB=oo 50
Dy, l
200 B 20

< rsenntPa-w

A7) =
7122 do| ¥F7I=

LB = Sz %
0102 051 2 5 10 20 50 100 1000
1.0 =
09
08 F 200
=0Tt 100
06
P
0102 051 2 5 1020 50 100 1000

DB
TUHOIE nafst ZA|YS At AT &A= |y, |, (Christiant Carrier, 1978)

3.8.4 Schmertmann?| Ut (AR E0f| A2 EHY XISt

8= ClCz(P‘W)Z%: Az;
Of7|M, 1= 2o BO| Ciot HAE FA
Cy = 7|x9| 2Uolof cht BEAS =1-0.5[p/(p—po)] = 0.5
C, = 59 32| (creep)dfl CHSE HHA 2 =1+ 0.2log (£/0.1) (1 F4)
p = 71X HIEHO ISt (MR A IR X EN FHMSIHO| 2l st EE)
Po = YD, =2%20|0| st SIS
z; =24 XE FH

E, = 2 R0l ByA%
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3.8.5 ™8 Skempton-Bjerrum i

& 33 2aHE u3 YUHSHE MY

S, = fm,,Audz: f(m,,) {Acz+A[Aoy— Ao ]} dz

& 1XH YU HESH O Chst AY 7| x| HBHE H]

~H ~H.
s /Om,,Audz /OAO'(3)dZ
Ka="§ == A+ (1= )| L
V/(;m,,AO'(l)dZ ./OAG(l)dZ
71N,  Kg = AG7|2=0 Tigh Yot
Seeir = YT\ o3 FLHSHE
S. = 1% LY
H. = QUPES| £/

75
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3X3mel AR 7|7t 518 X|X|ZH0| 20t/m2Ql X|EHOf| &
RS W 71 2ME[oM O4EE EHEESIE2?
1,500t/m?) [7| A} 06, 12]

@ 0.9cm @ 1.54cm 3 1.68cm @ 2.1cm

? (Bt ¢, =0561,v=05E =

UL} HEXX|HUF 51F0|

1-0.52
1500

Sol) S, =

(0.561) = 0.0168m
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3.9.1 5| 8%l sl
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Py S —

<35

(a) 71 &0l A7) oA Hstr) Wy

L
Al‘f ls—1 8 o] D

() 718 olA = 2% SushaA Aot wya A
5|8 Hotel golof Tt o=

(redrawn after Wahls, 1981)
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4 Skmptonit MacDonald (1956)
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3.9.2 dA7|&

H 315 AR XY P E o dALHE 7|F

Ay oh AAet
HAAIIEM 22 Mg HgxA HEoHg
TEEIE ASHES I Z| T ST Al 3
aA71=
2otEo| YRIL AH R ABY HKRIT, & HHE §) 2
(2003)
UREE D g A 3
Al
ren ZZA|, RITA| 2
(2002)
AASHTO (2002) AtStEat A|C BotE (Z2F AL, XITA| H Q) 3
—
L 8 ﬁ
et st} A A e
S
£SHstel Fol
81
A =
3.9.2 BA7|&F
TZE0| ZRe 5| 8HSIE
o ok xt TZE=8 4 58Xt (m) 5|82 21(5/5) (rad)
HZZ232ERX 0.05 -
Terzaghi (1934)
Glotpx - 1/280
Terzaghi and Peck (1948) HZZ32ERX 0.05 -
Tschebotarioff (1951) ootz 0.05~0.075 -
HOZFe|EtHRR - 1/300
Meyerhof (1953) HIZA2EYATR - 1/1000
oot x - 1/600
Chem 1/125
Barker et al. (1991)
[ESm} 1/250
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4.2 ™MHI|Zxo| X|X|

1
QMZCNCFCSFCdFci+quFq5quFqi+f’yBNyFysFdeyi

O7|M, p = FBI7|E, LY

1

ikl

Sz otHE 3 HE.

& HEX|UHU|SZAY AL : $=0, N=5.14, N,=1.0, N,=0

U

BHXIXI

§

I

qu= CN(‘ Fc.&* Fcri +q

...
ra

g X8

. 9 (nety 0.195B D/'
BISKIKIE:  quey= 2 =5 (5. 14)(1 i T)(l + 0.4?)
Dy
. —5
@ Eux ) A2

HRH7|E ABAl 2ol Dol 23
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42 ME7|X0| XX

& MEEX|HIO| AL . NA| AL (Meyerhof), B>1.22m

2
B+0.3 S,
qun(s;)= 198N (E502) Ky T eNim?
o7, s, =254mm B, 5, = HAMHsY XIB12E 25 4mm
K,;=1+033(/B)< 133 = HO[Ax JEeR B

o7IM, B+03~p &M,

s j/(mm)

2
~Le~ | kN/m

qan(s;)= 11.98N-Kd-[
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LEX|X| MH 7| ZE(Piled Raft Foundation) 7§ 'H &= (Cooke, 1981)
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4.3 MH7|Zx9| FY|

: ZYdA$=(S<50mm)

| (1988)

3

@ ACIC(American Concrete Institute Committee)2| 366%]

= El[b

EB?

E'= 2589 8474, E = Aol

O17| M,

5
%)

ah
12

E’]sz’([va S+

E'T, =7 1=52

O17|M,
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=
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0.1 %% 25k
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4.4 HI| X 24

7|Z=x He| BHO

ACIC 366 (1988)

HEI|x9| 44 #&

=Winkler Model
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4.4 HHI|Z9| 24

4.4.1 Z/d%(rigid method)

¥y
¥
1rL T | |
[ O Ou i O
0. 0, 0 [
i -5 s 7 i s . D’
. I i
D h (2} [ S )
&

0 | & | o | o ch = D
LN | . N &
Cle = D
B
@ A7 2 WA ® A7) 2 44 o
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4.4 HI| X 24

4.4.1 Z’34HM(rigid method)

v
1

q:%iM}.%iM

v X

e QX QX+ Qsxyt e Q10+ 00yt Oyt
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4.4 HHI|Z9| A4

4.4.1 2’4 (rigid method)

* %'E'E%ll‘ (qav)

L+
gy 50
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4.4 HHI| X 24

4.4.1 Z/d%H(rigid method)

- 7|S35 2] £ A4 (Column load modification factor : F)

ik Taciac

O1+ 02+ O3+ 0y

- £H™El 7| £8tF (Modified column load) ; £0i, FO,, FO5, FQyu

1% I
dr2
1 dr a |,
bo= 2L+ L* L 42
=tk by=2(L'+ L)
<97l E> <EA 7] E> <71 5>

Y- 7| S5tEel +3
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7Iz=9| €4

B
R

.I

4.4.1 2’4 (rigid method)

- £870] d 2% (ACI Code 318-95)

]

f
Je

by d[RF(0.34)/

U=

FS7l=) (MN)

Ho

Ol7IM,

= (MN/m?)

0.85, /"

RF = HEA=

95

7|z 24

Bl
r~d

.l

4.4.1 Z’34HM(rigid method)

RF- A, f.,(d— ‘2‘4)

TNM)

(557

M,

A 5 f ‘y

b

’

0.85/

a=

RUEISHE)x(EHS A ) (MN)

0.9

RF = =A==
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4.4 HHI|Z9| A4

4.4.2 A’dH (flexible method) ; Winkler 2 &

I

- Qlojo| CHHOM HHIE M AW

d*z
M=FE:I -~
L )
Foundation surface
O7IM, L= 7|=Eo| B d
ojo| o | 3 '
[, =710 Y8 BHE WL]lz
z = 7| =R MY
I = (a) = Rigid base
h = 7|_j‘:_|_|.9| 'I'”" q(x,‘y)
B = 7|xm;o = l ] A Y A ]
b, g
4 b
=
¥ ¥ ¢
97
4.4.2 H’dH (flexible method) ; Winkler 2 &
& Winkler 22 SEE
d’z
[ M=E,I, B ]
Bl ey g=—Kz=—k,, L
qosl h-Lﬁf 1 = Espati] e
_dvV _d*M
dx d_\'l
4z
[E,I, I /\‘p]_lz]
[: =e P (A cos B+ A"sin B x )]
OI7IM, k,, = RIgHEtAA 5
(coefficient of subgrade reaction subgrade reaction modulus)
98
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N

4.2 A4 (flexible method) ; Winkler 22

U =b,d[RF(0.34)/ 1", ]
E.d’
12-v,")

7| % THo| ZOpLH|

99
4.4.2 H’dH (flexible method) ; Winkler 2 &
& Q1A% M7 MKt ACIC 336
@) 7158150 oot 2AEA M 2HE B
i | T
P2 LADNa
/"/ 4 \‘_’:__
e T
—-——-_ i i 41 ‘
-0.40 -D.‘]O ‘ -0.20 -0.]:)0 0.00 0.10 ().‘20 0.50 0.40
Al ‘42’ A:,A.
HH7|E A Addy
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4.4.2 A’dH (flexible method) ; Winkler 2 &

27|53t E 0 = EEl o] WALH 2

AL
T
M =M, sin® & +M, cos’ &

M, =M, cos’a+M, sin’ a

101

4.4.2 H’dH (flexible method) ; Winkler 2 &

& S dA =X ACIC 336

HHI| =0 FHHRE| 7} 7|82
HHI| =71 AHo0[2ta 7HY

o EHER HMEHH HY : 7

102
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Guaia = 1,000 kN/m?
G = 1.210 KN/m?

(a) AR EAO] A7) %

Guin= 710 kN/m?
Guax = 1440 KN/m?
(b) Qhikake] M 7|3

Z5H0] 7| X0 A S LIEHL = A2
Z=0| ot x|EF KlSHo| H
ton/m2/m = ton/m3)

|, st=2E K| S0 et Hat

X|HEh2d A 20| Ao
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4.4.4 X|HHerEd | 4=

1. Terzaghi2| H| Q4|

=g 03 i o (BF03Y o [BIL+05\ [Ks =30cm BAE BERs
orT 0B - ‘30( %) /‘ﬂﬂ”‘*o(w) ABoZRE MHE K,
K| ek A
kN/m3
AR E e 78,400~245,000
=2 =
ZE Tl 52 st 245,000~1,225,000
e 1,225,000~3,675,000
AEE [ 98,000~147,000
(Eeﬁh 57t 294,000~392,000
E 1,274,000~1,470,000
2g 117,6000~245,000
HEE e 25 245,000~490,000
chekgt > 490,000
105
Hid} = A
4.4.4 R|UHEEZ| &
2. Vesic2| H|QHA|
_ | ER° E
k.\p— 0.65 -3/ e 3
VErtr B(1-v7)
Of7|M, E = X|gte| EbY A5
Ep = 7|20 BHgA S
=]
E
o471, k.= B
POB(l-v7)
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4.4.4 X|
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(VRS

0 +0, _ (LF,LL,+LF,DL)+(LF,LL, +LF,DL,)
C]ll

oq7|M, Q1 0,= 2 7|80 2&dt= HASHE
LF = SI&5 7 5=(load factor):ZSHE A =(LF)) = 1.6, ASHEAS=LE,) = 1.2
DL = AtStE(dead load),
LL = &5t (live load)

(X) &8

| 712 SO /IX[SH=S L 4HE
L=2(L +X)

7|1Z220| L 0| &8¢l CtZ1t &2 7[=E=(B) Y

M = j Vdx
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4.5.2 MCiE|E2d 57|

@) Foizl si8EYL 7|F0= 7|x9 HH(A) ZH
0,+0, (LF,LL +LF,DL)+(LF,LL, +LF,DL,)
‘[!/

A=

2t 7150 & Ests dA5E

S % (load factor) : 23S AT(LEF) = 1.6, SIS A (LF,) = 1.2
o}5 (dead load), LI= &35 (live load)
. B, = AtChE|E 2o ZO|

g, = 7| EX|ge| IHR|X|
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